—
LT =
vmy,,,,"n" %%‘

uuuu':,'::m::l" : anng

.'p,‘,",'tu,,,, ”
s
. ‘,' hug,,'{,':#'l"”
BRI
i "uu..“"””
20

HEES |1 / o |#R |8 =
I | EEARIE@E—4—1)

— oA g & |§| /

— SRR [ ; | = \ - ’ _ ) -

Sl T N C D N , ] N 1M\ P
—

“mll;.:..,,,.. = = = d o £
U R - !,,, - - - —— : : _ T SN . ot o /F = TEERT Eﬁﬂis%ﬁim'fﬂi’.m
»,L — . ] [ - “ %

= X wW




M X

$=1/500 $=1/100
VU©®200 L=52. 60m VU©200 L=50.70m VU©200 L=44.00m
/ 3. 0% 3. 0%o 3. 0% 3. 0% % 3. 0% 3. 0% /
19.00m 16. 00m_ 17,60 L+ 5070 . 19,700\ \.24:30 -
2.10  1.500.18 6. 05 1.75 Q.45
. 50 2.80 2.75
1.55 _1.20
E
: L
= ,
9 |_M_m
= EKE VP 100
HKE VU200
,\
i @—®
2.05 _ 1.600.18 6. 05 2.45 0.60
. 5, 2.75 . 2.75
1.55 _1.20
FEIKE VP 100
. 1300 =
+158. 592m Fots ‘ ‘ ‘
b +158.207m +158.207m 3434
155.00 vuzoo D )yuz00 RN
S 157, 272m o33
i Py +155. 999m B B . . B \3 1200 2 U]
= @vuzoo +155. 5 5
g | 3 As (5-16-15) =L s (5-15 155. T33m R ps o
= +155. 112m B i dAs (4-10-15) 7]
= i BAMS T BT H=3.0n L=1. 170mJE#EE L:15.75%n 1=0. 750m . ”31 ‘ ‘ ‘ M
H=1/500 i BHO. 28m3 éhl:lﬁ-_“’éi&ﬁ‘ I*‘@ - *
DL=150. 00
B @m = g 2096-9 2096-3 2096-2 206-3 |
T T T
& ) VU200 VU200 VU200 SHP250 |
@ A | l 3.0 | 3.0 | 3.0 l | 40 | l
T | [ 19.00 16.00 17.60 | 50. 70 [ 19.70 24.30 [ [ 17.67 | |
- T - - - - - - -
* #® Y ¥ e = e e e N s Z NEES | 7 /40|,%13R|lz| =
T T T T T T T T T
- S 85 g g2 g2 85 g = g I ERABTE (B06—4—1
B E & 5 i = So 58 P 2 2 2 | ERARIEE® :
= =2 = == == == = = = R N
T T T T T T T T T ==
» = 8 8 2 3 8 3 = 8 T [ ZRTE by
. : : : : : s : : : BEmR A B BT HE P
= = = — ~
= X T




11LL IE $=1/1, 000

N

#

L)

T (

glu/ 0|wr |8 =

T | BERMHEIE(206—4-1)

= | & ® |§| /

L7

TEER =R BTN

=———"" - = AR = %



EF ﬁ $=1/500

VU©200 L=32. 00m

)

VU©200 L=6. 70m
SHP©250 L=25. 50m

3. 0%o0

VU200
/3 Q0%

3. 0%0

3. 0%o0
6

4. 0%o

b

Oyugoo HbE

26

+157.624m [ o

60913

Eg VU200

+157.481m

] o ‘ ‘ ‘ 13°)vu200
+155. 930m oo —®  +156.308m (3tE)
B skl L[] ] l/A
| .
| 2
§ 150..00 Hi#As (4-10-15
= N BABZAET H=3.5m HHEIER 1=23. 750m L=0. 750m
LEh - 0oom
H=1/500 i BHQ. 28m3 NOFEEHHET S
EHEAARXRLEX 214 TV
DL=147. 00
EXE X 2136-5-3 2136-5-1 |
T T
(= || VU200 U200] SHP250 |
[ 4 & || [ 3.0 [3.0] 4.0 [ ]
EXEE [ 17.90 14.10 [6.70] 25.50 [ ]
OB B 3 2 z @ 2
T T — T
£ Y S =
= 3= 2=  oa =
= == === =
T RE = = s -
T T T T T
& mE R g z S5 = 3

M X

$=1/100

O—0

5

.52

1.

95

0.52] 0.45

4.05

O—0O

5.67

0.67 .45

4.05

3.00

W 150
(BEZR)

HKE SHP ¢ 250

HEES 20/40|{fﬁR|[§|a—<

I | EEWRIE(LB06—4—1)

BB |vEE-asE-weE| s |/

%8 A

IE&ERT =R EHETHN
= X W™



&1_% '-H éi‘l % . §42 $=1/250
(ALIEER) BITLED)

\\\ | L,:,,,,,,‘Ly ()lbrs,,,,,,, E I%ﬁ
\ @ _

$=1/100

O =

5.67

.67, 4.05 J

4 [GESH5)

TERFE—R

£ 5] @

©
®
©
©)

@)
& —
s | & | H| 4| b (o)
SRR | SRR | ERER . | B
B T3e) dEEmE)| GEEL) | FEE | e TRER

©)

=
5
@
+
S
®
Ed
2
m .e :

fe==x ©

Rl
)\
B M| BEVR | RRE [NV @EERLT BABH TR RBEFER

HEEE 27/40|ﬁﬁR| =

T f& | BEAHKIS(RN06—4—1)

&

& Al | mEREHEE@ || /
B’ R A
TIEER =RMEHETHR

= R mW




%é M A 5 §=1/250
(HEER) GRITLED)

RN
e B OE suw
o 159" “‘\:i — A = B \ <::> - (::>
/ Y P N\ VT © g
/\seLOmiw[/"«« [ - A W |50 0m=440.0m
S _— y o\ \
/ \ 567
0,67 4.05 5J
4 (fE%H1E)
“7F‘J§:F H A H

Re M-
2 5| O @ ® @ ® ®
ISR I % | | 000000
b | b || 4| & (o)
=REE | EREE | EREE MELET
B ") |uEER| GEAL) | TR | e TR

Lﬂ_lulll
Jjn
Q@

®| @ ) ©)

WEAEOERA

0|

Rl
)\
B M| BEVR | RRE [NV @EERLT BABH TR RBEFER

HEEE 28/4o|,$ﬁR| =

T f& | BEAHKIS(RN06—4—1)

BB | xEReAEEG || /
B®m A
TEEFT =RMEEETHA

= R mW




50. Om~100}

@
L,

Y B
= N

L EXRT 6
(ZEER) (BITILED)

@ L,
= | A
L 0
e I, v

$=1/250

i

Xl s-1/100

Iiéﬁ_
@ -

O X

6.07
4.50 4]
(fEZHIR) 5_2_
! E As T EE

TEMR—&
£ 5] @ @ ® ® ® ®
E [iﬁﬁﬁl$¢]
ISR m % | | 000000
b | b || 4| b | E==
SRR | SRR | SRR . | IS
B 3s) (dEEA)| GBAL) | TORE | e TEER
£ 5] @ ®|©® | © ©
ISR llj] !E
l \
% M| BEVR | RRE VUL EERLT BERIBTIR RBEFES
REES 29/4o|,%ﬁR|a-<
I iE| EERBRISER6—4—1)
BBl | xEReA%EE || /
B®m A
TEEFT =RMEEETHA
= ;X 1




HEX
& il 183 vk—IL
EILZIVLEEYT (F2cm) 1.27m
AN—rtavy)—F 0.34n"
BRERE (F20cm) 1.65m

E3
1855~2250

HII2E5TUR—LEER

$=1/20

1855~2250

820
110 600 11

StARIL b
(SUS403)

RUKR—IVEH

370

200 [150] 220

1450

_$6008x3E

XY UR—LOEF=RTHEE BEACKE) NLOEHEATI L.

ERUEH
TUR—ILBEREEL

>4 600 x 100 (150
(50)

By

#18 600/900 x 600 (450)
(300)

EEE 900 x 600 (900, 1200, 1500)
(1800, 2100, 2400)

FiET Oy 900 x 900 (1200)

(1800, 2100, 2400)

< iR—ILE H

1450

HEES | %5 / 0 | %R | B =
T & | EEMRISE(L206—4-1)
B R | muzs<osoimem ‘:‘ /
iz

IE&EmR =R R HETHA

R




%E.E-L 1 7:7_'7 >7r\_)b*§ $=1/20

E mE K < kR—)LEFHE
3
1500~ 1700 ¢ 6008% 2

N\

|

%

|
dVan
1500~1700

(@

XY UR—LOEF=RTHEE BEACKE) NLOEHEATI L.

A-A BEEK B-B MEK

820 820

ERUZH
At=RIL k IUR—LVERET
(SUS403)

y

M
(50)

- £1B% 600,900 x 600 (450)
E (300)
= = |_[: ES
% . %
_T\ 8 EEE 900 % 300(1800, 1500) T
p— +i- L (1200, 900, 600) 1;:
> o 4 id
ST smmon ey 900x900
— l—— (1800, 1200, 600)
15 900 75 p ook LT & 5 8
—_— |
A n—F HE R . - / s g
(13-8-40-68) a 5 R = a0 6000000 =
ELELLEYT (B2om) 0. 74m T
AoR—Fas s y—r 0,09t
BEREA RERE (E200m 0.95m BERE
1100 1100
HEES | % / 0 | %R | B =
I 8| BEWHRIE(R06—4—1)
iE Bl | #z1STok—LHER ‘f‘ /
B8 A
TEERT =RMEHETHA
— ~,
= X T




BABSLIBIE

W
- .
{5
BiER oy
= (1) i
B b
7
B |
VU200
(=)
f e
| | S
7
RER 15m/ 1€y k
(RHOY—=2F )
AR H| fEEIgiE | dEE0E W
H<3.0m | BH 0.28m3| 0.95m
H>3. 0m BH 0. 45m3 1.05m
FiEY
(HEBIZE=1.50m)
B=0. 2+600
i W
|5
(o]
= #
z 2 ;
g VU200
|
S
—g
B

600

(R )—=VFR)

H

FHHRANR

BE@XEIL

950

(o
|
o &
3
[
E}}E{ B pr
ANER| gemssin &
B L (B4£1) &
(BEER) I
VU200
PR OKER)
- =
Y g s
| ————=¢

RERE
(RO Y —=2JR)

X H=2.0m— 1ERR
H>2. 0m— 2 B¢ 2

NEES 38/40‘5#&){‘7?:
I 8| EEHHIFE (A06—4—1)
& g :I:I&Uiﬁ-“é‘?ﬁ%%ﬁlzz

B® ] 4

TIEER =RMEBATHA

R




